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You have four choices for each objective type question as A, B, C  #rudsetzudit e §L S emi S fom

1 Ay

and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1.
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question
D c B A QUESTIONS /=iy Sr.No.
19.3 gem™ 10.90 gem™ 7.86 gem™ 2.70 gem™ | The density of gold is: 1
1S T I
Gas in solid Gas in liquid Solid in gas Liquid in gas | Identify that mist is an examplel 2
J‘-fufw“" J;J:CEL J,n.fu:u':.f éLufuaf of solution:
e SIS S S
; Which one of the following is 3
C,H, NaC? CH, C,H, water soluble compound?
_4‘_4_%‘)’01&&5:?&{24—&():5@/)
How many types of 4
3 5 2 4 elec ical cell are?
7S Sk ELHE |
\Th¢ oxidation number of 5
-1 -2 -3 —OA@ oxygen in peroxides is:
Oﬁ\ e AT KT ATy,
Iron Aluminium Copper (Zih The most abundant metal is: 6
U (b * £ e Pt Y e
Sugar Water Oxyge@&/ Air Which one is the example of 7
2 & FAte 1o mixture?  SeJed £ S|
Lack of transport Polluted air tition Unemployment | The development of chemical 8
Bt LyeosdT @ﬁ) >y S industry has generated:
RN il B35 K
Three Two One Zero Number of neutrons in 9
o 1 g o deuterium | H isotope is:
el IE5s26 T H 243
The element which has the 10
Li Be F Ne lowest atomic radius:
-c‘_l}(zwﬁ_l;/hﬁ?l[c,\__/ﬁ%{l
Water Acetone Ether Benzene Polar covalent compounds 11
d WENe i oF casily dissolve in:
i bnf e QUTisdelly |
Which one of the following 12
NaC?t NH,C¢ H,0 NH, has a coordinate covalent

BILIAET
S bbblhecksd 2 xiTS

bond?
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PAPER-I GROUP-1
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e

TIME ALLOWED: 1.45 Hours

MIN — 1=

145

=y

MAXIMUM MARKS: 48 SUBJECTIVE .0 48 = A
NOTE: Write same question number and its parts number on answer book, as given in the question paper. bl g4l SR L A2 A5 4inasd
SECTION-I sio
2. Attempt any five parts. I 10=2x5 __g‘;a’“££|2'é&"df 2 iy
(i) | Write down the scope of Biochemistry. iy F o SRS A 1
(ii) | State the reason: Soft drink is a mixture and water is a e L J, |G /J LI KLtz b (i)
compound. ) _
(iif) | Write down two properties of neutron. g/ s wlunsze | (i)
(iv) | As long as electron remains in an orbit, it does not loss or S it oA g e b e Ll SO Ea (iv)
gain energy, when does it loss or gain energy? ot o Bk At S
(v) | Define electron affinity. Give an example. sty /-‘I'J‘j?f.u, 2| )
(vi) | What is meant by group and period in modern periodic Pt P el SEKE oy (vi)
table?
(vii) | What is trend of atomic radius in group and period? ?c.bfu'\?/ifuii.:ﬂlu“i/m_af (vii)
(viii) | How many elements are present in 2™ and 3 period of VRS e e 13 LIS pei (viii)
modern periodic table? ¢ ek
‘.‘4.' )lp‘u ekl
3. Attempt any five parts. 10=2x5 Py T ng”i 37 | 340
(i) What is meant by a chemical bond? f(\ el e J-h}wf ()
(ii) | lonic compounds are solids. Justify. %\éo) Ky e ,,JJ, (ii)
(iii) | Differentiate between lone pair and bond pair of electrons. Q (} s u; T R s e g | (i)
(iv) | Define a pressure and give its expression. 0(\&?/;) R L /{flK iy /’J S @iv)
(v) | What is a diffusion of gas? Give an example. I @ _ZJe it e nlf ol | W
(vi) | Define Molarity and give its formula. /\}b sl RS Ey PSS A (vi)
(vii) | What is meant by unsaturated solution? @(// Sest Y e R o (vii)
(viii) | Why do we stir paints thoroughly ?&@{«Oﬁ\ﬁag’? S UL S e Wl e Jos (viii)
4. Attempt any five parts. @N } 10=2 x5 —i-i":/J"-"“—’Lm&""J’( 4//‘7},,
(i) | What is the principle o%&:ﬁtmblatmg? 2 te U UriK. Bk, 2 (l)
(ii) | Whyis O, necessary\bf}rusting‘? 2 ?‘;.duﬁuxfdf:/lq.éf".czﬁ (ii)
(iii) | Differentiate between oxidizing and reducing agent. 141 L n L Eogh i EAST (iif)
(iv) | Define non-electrolytes and give an example. 1+1 B A A /‘7&/);“’ Y (iv)
(v) | What is the use of silver? 2 syt | M)
(vi) | Write down two chemical properties of non-metals. 141 -5":4/2 el Sl Pt (vi)
(vii) | Why does reactivity of metals increase down the group? 2 S Prudy ETNG P NEAT S| (viD)
(viil) | Write the names any two very reactive metals. el 7 Lk S nengds | (Vi)
SECTION-IT o
NOTE: | Attempt any two questions. 18=2 X9 E izl e aus
5.(A) | What do you mean by molecular ion? Write down four LIS LB ted s pif T FTIHEN | ()25
differences between molecule and molecular ion. X i T L
5 - 1700
(B) | Explain ionic bond with an example of NaC¥¢ . 4 oS T Jied NaCl ()
6.(A) | Write down any five propeities of cathode rays. 5 NPT P Z//Ld Sl st | ()26
(B) | State Boyle’s law and prove that BV, = PV, SEetndan oS | (D)
4 PV, = BV,
7.(A) | Write down the five differences between electrolytic cell 5 5L e i i s | ()T
and galvanic cell. : ¥ B
(B) | Write four characteristics of suspensions. WEgy _,L,,.ol%{ (Suspensions)=¥~ | ()

°1-2024(1“—A) 90000 (MULTAN)




Paper Code 2024 (1°-A) A
Number: 1488 SSC PART-I (9" Class)

CHEMISTRY PAPER-I GROUP-II ot Uiy P
TIME ALLOWED: 15 Minutes AT s Y oo 15 = &y
MAXIMUM MARKS: 12 " OBJECTIVES s> .0 12 =4S

bkl s A il A So7 3 o L__J)?-'yuacjun/’bé:é.)&Vﬁdlrﬁ/,(éﬁ}lz e D HCBA :«Ui;leg.ﬁ Jir s 1

You have four choices for each objective type question as A, B, C

Ry _',mu.f AV AT (,( pvs b /. 2kl L/(/;.yf Us Al

Adir

and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1.
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question :
D ¢ B A QUESTIONS /=ty | ST-No-
The “p” subshell has number 1
4 3 2 1 of orbitals:
St
Which one of the following 2
Fluorine Chlorine Bromine Todine Halogen has highest
L LZ”K ; y o7 elect.ronegativity?
G K A Pk = it
e
ce, H, N, o, A triplescovalent bond is 3
fouf e bbb ehsd
{dantify the compound which 4
MgC¢, KBr NaC¥? C H, 4 is not soluble in water?
o%{& o i P QL of g s
p @ i
\\'}b Which one of the following is 5
Glucose Glass Plastic %> Rubber not amorphous solids?
/j)f JL( .ﬁ/’\[&@ b7 °+L¥J}U’1MIUJE-JJJGJ)
Gas in solid Solid in gas Gag'in liguid’ Liquid in gas | Mist is an example of solution:| 6
7 5 " . . N
v I a2 bt L N
Chalk solution Jelly N Paints Sugar solution | Tyndall effect is shown by: 7
JEE S & o JHeSE et S
Spontaneous chemical 8
Nelson’s cell Down'’s cell Galvanic cell Electrolytic cell | reactions take place in which
S A i i, 2 cell? .
e PGS W b Esd
?4".'#’)’«'
Oxidation number of "/N" in 9
2 s +3 +2 HNO, is:
~ ‘_/Jdi/W" N" 2 HNO;,
Magnesium Calcium Lithium Sodium Which one of the following is 10
£ r}kf s Eir the llghtes.t metal? .
?gddQFounfcufdibz)
Mn Mg H Hg A symbol of Mercury is: 11
-4"_‘)3/ Kd/ #
18kg 18amu 18mg 18g The mass of one molecule of 12
water is: -.;.JLKJ.:QL..{ILB&
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CHEMISTRY PAPER-I GROUP-II I S b4 (5/;-.{4
TIME ALLOWED: .45 Hours MIN—> Y & 145 =
MAXIMUM MARKS: 48 SUBJECTIVE 1> 8 =45
NOTE: Write same question number and its parts number on answer book, as given in the question paper. bk gy S 21 DS iz )

SECTION-1 oo
2, Attempt any five parts. l 19=2 x5 -5:{4,*’.-.;»;:&2:&;:.6:" 27U
(i) | Differentiate between Homeatomic and Heteroatomic molecule. | |4, _EEO Aty el Ly s (i)
(i) | Definé empirical formula and give example. 141 -éz:dl‘/v_fl»l;f»:...y/"[w.:'hﬁﬁl (in)
(ili) | Write down any two properties of neutron. 141 EEF elor® o5 § Sty (iii)
(iv) | Write down the electronic configuration of chloride ion (C£7). 2 Y S N it (iv)
(v) | Why atomic number of element is a more fundamental property e il fenck ’U'(/-] LU )
than atomic mass? Justify. i ’ B
2 - eud B
(vi) | What is meant by periodic function? 2 St et by | OD
(vii) | Why is the ionization energy of sodium less than that of 5 teudfe (f:f’ Gkt T s | (VD
magnesium? '
(viii) | Define electron affinity and write its unit. 41 g Fargbim iy }JG’H"w ¥ (viii)
3. Atterapt any five parts. i0=2x5 W9y 0 ﬁg,z,ég‘_éj' 341
(i) Define van der Waals forces. What is their nature? St LB P S 5 s @
(ii) | Write down two physical properties of metals. e etk | (D)
(iii) | Why does ice float on water? /OCO/\\ ted 20 B (}-ii)
(iv) | Why are densities of gases lower than that of liquids? @ s Fnu [f taad sl @iv)
(v) | Write the boiling point of di-ethy! ether and ethyl alcohel. e &\ Q\;’/_ 7 sy s PO F e pafaads | V)
(vi) | Differentiate between sotute and solvent. &b O sr atesdy | VD
(vii) | What is the difference between solution and suspegii’gﬂ@ e )U’Lﬁf.‘v/ M (vii)
(Vi) | Why does test tube become cold when KN, d in St ot I b A KNO; (vii)
walter? @ e (bt
4. . Attempt any five parts. A@\B 9 j 10=2 x5 _54'2._’4;‘.4,35,2,55‘6[ 4/"'],,,
(i) | Define oxidation state and %L\\/\?ﬁeéﬁhp% &S e i PR ST (.l‘)
(i) | Calculate oxidation mgn\@h’?\lorine in KCLO,. e Ao Ty K KCLO, (iD)
(ili) | Differentiate between cleetrolytic and galvanic ceil, _é&)ww‘ﬂ,&f/,,v@,/g (iii)
(iv) | Justify the given reaction is a redox reaction. e NG S et | ()
2Zn0+C —>2Zn+CO 1 5
2 2Zn0+C —>2Zn+CO,
(v) | Define metallic character. _E /‘d PN v)
(viy | How do metals differ with non-metals? plnail? L P (vi)
(vii) | Write down any two physical propetrtics of non-metals. BEy P df" Ardpos: (vii)
(viii) | How does fluorine react with water? te dSe AL = o (viii)
SECTION-I1 (5.0
NOTE: | Attempt any two questions. l 18=2x9 __é’d&&,ﬁéam,”cgj s
5.(A) | Define element and describe its kinds. 5 -é{dl_r.rlﬁltfdlulg”f»é’/‘v-‘—'{“:' ()5
(B) | What is covalent bond? Explain its three types. 4 s ___.,u,Jru,dfdwg ety | (W)
6.(A) | Describe “Gold Foil” experiment. Write down two L AN FE Gl | ()6
observations of this experiment. '
5 __gcyt,«,l"‘/»
(B) | Define evaporation. Describe various factors aftecting it. s si RIS St /Jcﬂm /i )
4 ey N
7.(A) | Define electroplating. Write down procedure of electroplating. 243 ol Bk, e VB4, A | a2t
(B) | Differentiate between unsaturated solution and super saturated JeiJe st (NayS,0,) ed-F s )
solution using example of sodium thiosulphate (Na,S,0;,) . Pt ¢ B LS
14142 NS AN

A Annac1St AN aanAn e mTIw ey A mTY




‘s‘u‘l:'je_-lpf. w.ate:r‘in; mmHg' at 40°C s
: | - (B) 553
25, ‘Ij (2)’ : f.a solute in grams is dlssolved in 1000m3 of the

: -solu,, n, ,he percentage |s

(A) % m/v (B) % mim.

s _‘" (3) Thetsolutian that contains :more'water is:

' “1M A I L U
_Chromlum inK;Crs0; s:

L ; ,(B) Magneslum
) (atomic maea umt) Is equlvalent to:

66 x 10’24mg (B) 1 ee x 107249

(B) 1sg

he: orbitals:
(A) One .r o
-(10) ""”ztransltion elemehts are; .
: (A) AILgasps /-"?l?

' "(11) The

(B)Two_ »

_ akest force among the atoms I
‘ ntermo!acular foroe wi/rpl. H

# &)Metamc force w),@

: ] (12 t)e c omprnd that has slngle ccvalent bonds is:

“(8) CZH4

2023 (1st-A)
_ssc PA,RT-'I‘ (,_'ath ‘CLASS)

@;@f

5§Qﬂ>“mﬁ'

- (© Ca<0H)2 .

(B) Al non-metals #’"utrl.?

" (C)CH,

i - o/

: —— -o--—.,———-—

"rroc ﬂll_- that bubble.lnrfmnt of that qunﬂon number. on bubblo sheet Use marker or pen
8. ¢uttlng or ﬂlllng two ormors bubbles will result Inzero mark In that question. No credit will be " -
'.-'BUBBLES are not ﬁllocl Do not solve queetlons on this sheet of OBJECTIVE PAPER.

(C) 1494 (D) 355.1

_,-+du{829g;(fwutu}~100un u:;-t/f..ob—/ "

" (C) % vim @@ (D) % viv

-93)&)1‘,5'(;&& u:(fj,"n

(D)05M

(D) +14

(D) H,S0, -

?q_bbuk:_dvfmuﬁ/ufc_(,ﬂJJOA_ ‘

© Alumlnlum @4 (D) Selenium &

sl (LA SALR) amu .,g o

(©) 1.66x107%%g (D) 1.86 x 10°2%g

(C) 18kg (D) 18 amu

L HT

(C) Three ¢ (D) Four 4

-urz_nu’r'é(ﬂ'/'l) ’

(C) Al metalloids J¥ @ (D) All metals J*-“ra
’ -;.J»U/A/db..lfd&uyué/l

‘ (B) Govalent force (ks
(D) Iohic force uAfET

1 L;ﬁl‘:l;)ﬂ-w&'/(ﬁ’
o

- 2_1(_bfbj)(-,**)-2‘023(151%)—‘%90(;0 . (MULTAN)
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b s TOT 2023 (1stA)

SSC PART-l (8th CLASS)

"' ‘: :rvi -y . ) "b ] S

TRY. GROUP My 0 Kol

\LLOWED: 1.45 Hours SUBJECTIVE ¢l 145 = 2
- a8 = A

" : tlon number

SECTION-! il

any five .p“am 10=2x5 -ﬁ;ﬂwé:ylége_dl -Z/UIr |

( ve the scope-of Biochemistry. 02 . RPN 2712 £ )

Aol . " Soft drink is-a mixture-and: water s & compound 02 ek -q_bfgfdg.?q_ ,,f’..,_f (W75 T R (1)
i D crlbe r?ason L ‘ ’ .

( tits two defects of Rutherford's Model.. 141 YN NV ()

(V)" - For what purpose U-235 s used? 02 el Lo 23 W)

_ ) .Write names of elements present in 1st period of Periodic table, 02° #t&d“kbirw‘l,a¥ éd‘.ﬁw »I(v) ‘
(V) Whatis Modern Periodic Law? 02 S bSibsan (V)
(vily. ‘Write the names of groups present in 'S' block of Perlodlc table. -02 .ﬁ?‘téu#:/ vt 's LHEs i)

il What }s Shielding Effect? ' @ e YRS (vil)
R Attemptany five parts. 10=2x56 @@ 5{{ Wﬁl?légc.éf -3/d6r
(_i_)' - Why.do‘dtoms redct with each other? S LS G AR
& '.:‘( Rt ng‘-‘ on-polarécevalent bond and glve example %ﬁ _é,dp,,g_’%, ,m,& -"’*"/){Ut iy
e roperties of lonic oompounds ‘ -gfgfoyréwéf&ﬁi YogET (i)
i S R '_ B ' ..é.)dl?‘)sléh%'/a Jd’z”-’g):'/! T {iv)
. 11 ° ,-{:;&mé.g}&}ﬁﬁ“f v .
' 141 EIS wnde iy i)
02 - ORTRYSTEAS W 2Rl (L R
| .02 - EromE A3y (il
10=2x5 Efeyrlinbie dS 420y
ENSNS 0
are:non elsctiolytes? St LU Lt
asic: functlon of salt bridge? Se PTGl
: Cbrrosion? Give its example. ‘ -#)Jt‘»gfm S‘q__yfu):/ (iv)

; ‘erte reactlon of chilorine with methane in the presence -4%"{ I FL J"@ﬂ o 2 L - V) .
o bright sunlight. ' o
) What are Halogens? Give any one example. - -SaJeid stk i)

' (Vl_!) How non metals are essential for existence of life? ?q_rdu/q:fd,égﬁj)e’m‘ i (vii)
a ‘(Vllﬁ Write any two uses of Sodium. -40.-_. W AL Ay | (vil)
- SECTION-Il (5.2 ‘ | '
:*%N@;« Er Attempt any two questions.  18= 9x2 L& fen Ll ne 8 —ud
B(A) Deﬂne molecular and emplrical formulas with examples. 5 ~EAL I /U)umm}?.,;::l A 8 (5
. (B) ‘How did the cathode rays dtscover? 4 st ¥ ()

A B (A) What s an lonlc bond? . 2+3
. Discusa the formatlon of |onlc bond between sodium and chiorine.
o
1+ 3 '

: Solublllty D1séuss the effeet of Iemperature '
o solublllty

{

G gl Gz g 2,

Ih part"‘number on answer book, as’ glven ln ‘the_question paper ‘

e oaS L & 3 EE T cf ooy v;..wy.{zf ()-8

EC A S ()

el A Jg (N7

AL S Eu A )
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2023 (1) | , A

5| - ssC PART-I (9" Class) . / df’ .
: -\RY GROUP-II h | (ol ) %
GWED 15 Mmutes - . | =
¥ . MTu-223 Rl s
, RKS: 12 ‘OBJECTIVE e = A4S
'. vz ;'L//Lﬂm..hvdwLut;.ms.u:u,/ugfa.:évéd:rﬂqvg}v-‘_a.!_‘.mu:cta A ..,w.fzgédsr, -..J
g - /'_,g/,,g"ru' (R A.bl')u:? /)Jf uﬁ@u‘(!d_f &4 f Uss -fnu"wul?uf lg}f..ur‘dlc/’ S ..alﬂ.c’_/ 2 .v( u:/lm(,}c.-{l

our choices for- each objective type question as A, B, .C and D. The choice which you think-is correct,
froﬁt of that question number, on bubble sheet. Use marker or pen to fill the bubbles. Cutting or

ore bubbles will result in zero mark. in that question. No credit will be awarded in case Do not-solve -
or thxs sheet of OBJECTIVE PAPER. : :

| QNol ' ' . : : -uﬂﬁr
: (1) Pelarcovalent bond present in: o . . ‘1’—”51’-&’?'-' *:L."ﬂ%'- )
Sy By )t . (© H0 @) N, -
(2) ‘Tnple c,ovalentbond contains electrons: o dlarstiedidds Q)
@) 04 (B)06 ) 08 (D) 02
- _(31).{ ’ ‘The densities of gases are expressed in: by -é—r‘fgﬁ@ff/’mjﬁr 3)
A mgem® ®) gem™ (©) gam™ (D) kgdm™
{4 Oneis the heterogeneous mixture in the following: e AR e S disse (4)
“ (A)Milk of Magne51a y..v?..JTJ (B) So oride solution J:lfb’ ’b)/r'}r '
(c) Potassium chloride- solutxon JJ*(L’I»{(‘ by solutxon S
(5) concentratlon is a ratio of:. {&% e »flu" I/ (5)

i ( A) Solutlon to so]vent Vdr:_‘f}’ Solvent to soluuon ety

S A %5 ®») Solunon to solution ¢S e i
_. The‘most common example of COTIC n is:. e Jerbaduns - (6)
£ (B) Rusting of iron tffi/e ) '
AU J.Lff"}l (D) Rusting oftm Ly
5 reactlon takes place e . W -q-k‘nVuu’('g{/L)ﬁ'r U,,‘_ nlirs# il ™

oy Electrolytw cell il (B) Nelson cell JFut
(©). Downs cell ‘73 oLl (D) Galvaniccell  Jobi¥
@ | "Whlch one of the followmg is less malleable? Tl u,f"u‘ufc-qi‘di e (8
' -(A) Sodlum ﬂy _(B) Iron 5T (c) Gold 1S (D) Silver &
() The molar mass of Hy50, is L etne¥ H,S0,  (9)
oAy 9sg (B) 98 amu lo©) 98g (D) 9.8 amu
.:(lb): - The formula unit of sodium chloride consists of : _ _4,.r,“}"” _ugux_/u.b’jfufﬁir (10) -
s i ‘(A) One Ng* 101’1 and- two Cf ions - F 100 E s TS T
. (B). One Na* ion and ohe C¢™ ion ' Jfﬁo’r/y"..{uglg-f‘fﬂru{l 7
) ‘Two Na* ions and one C£~ ibn " TS Lo Thdsns
i D) Two Na* ions and two'C¢ ™ ions - PAST PV VAL :
(D) .Deutenum isused to make: L : e Fe Uity ()
. v; ".»T,(A) Soft watet )l:..—’v (B). Hard Water /s34 (C) Light water /is.s Ay (D) Heavy water }l,d;_v.
' (12) “Transmon elements are: . St R ‘ -(.Clef‘”"J'"fu" I3 (12)
i ”(A) All gases. /ru P @®) Allmetals 220
.   ' ~(C) All nOnmetals )"utrv (D)A]l metalloids TR0

23(0b3)(1ﬁ'm£r) 2023(1%-A)-70000 (M‘ULTAN)
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4. Attempt any five parts

2023 (1-A) o . : A

10=2X5 . - f e linbie 4y

(i) = Define Electrolytés an ectrolytes. \ ‘ YAV BT RO
(i) " Whrite the differen ‘een Anode and Cathode. / _ ~c§/./"J)ul~:£5F{»lJ}':f (it)
(iii)  Define Alloy. Give one example. ~EabLin g P (iii)-
" (iv)  Write redox reactions involved in electrolytic.refining -J?AQ'UJJ/UUJ&;ﬁvé*lu'/-ﬁ:"!f—a."d’/K (iv)

' of'‘copper. . i T y

‘(v) | Write two uses of Magnesium, AL ﬁ%? )

(vi) -~ Write two chemical properties of non-metals. P el Sl e (Vi)

(vii)y  How does Oxygen react with elements of Group-I mefals? 5’;—3/&5&5:4_/ AL anL i iy ‘r,/ c,f.:"r (viiy

- (viii)  Why does Bromine exist in liquid state in Halogen group? ?u:i’-q—abébdfcf'lv(‘jwﬁ»-tu-"v)f(f’&" (viii)

SECTION-IL (»e - -

NOTE: . Attempt any two questions. _ 18=2X9 -Z.F :.yz&.pmrnﬁ.(}f —ad
5.(A) How does write a chemical formula? s et il (g

(B)  Write down four properties of canal rays. 4 Eifetor? Sl ()
6.(A) Define covalent compounds and write 1+4 o SuimEay FSoulod,l ()6
, their four properties. _ o ) v '

(8) How does boiling point of liquid - 242 ?wi_m.u,;,4&,‘:‘&,%)‘/,”;)):gt/,_.wg{h(ét )
depend upon the nature of liquid and inter :
molecular forces.

7.(A)  Discuss the redox reaction 5 Sdving L S LE L) (T
. taking place in fhe rusting of iron in detail. T oar
-;f/dk;c_gk‘fld"{’LSl
(B) Define Molarity and write its 4 L N L L TPy IrmE W PS5 Ay (D)

formula to prepare molar solution.

23-2023(1%-A)-70000 (MULTAN)

$SC PART-I (9" Class) .
'CHEMISTRY GROUP-TI | gl ) A
TIME ALLOWED: 1.45 Hours . & 145 = =
MAXIMUM MARKS: 48 SUBJECTIVE 1.~ | a8 =4S
NOTE Write same question number and its MTr 923 SR gt A7 dlrw’f,Qb’Q!x i
parts number on answer book, as given in the question paper. Bl 24
SECTION-1 Ui o
2. Attempt any five parts. 10=2X5 - 7 h-.uza:még:_é/-zﬂ J’(
(i) - - How would you define Organic Chemistry with one example? _ ,, ja. L.LySE b S LT (®
(i)  Differentiate between atomic number and atomic mass. L e n L (if)
(iii) thnp’letg the equation. 9Be+ {He ——> — o b —m = " SIS il (lll)
(iv) . For what purpose U - 235 is used? tebnJidig Lk U - 235 (%)
( "~ Why the noble gases are not reactive? ) vu_-‘,,wf;gd,u,{/-_‘f‘}; :'(‘_')
~ Define Ionization energy and write its unit. iy S PEE Ak st (V)
vif)- "D‘_escﬁbe Mendeleev’s Periodic Law. ke )‘,u_@w abhy (Vi)
i) What.is the trend of Electronegativity in group from top St st MWL L 201 Lo it S~ (viii)
7 tobottom? ‘ T i
3. Attempt any five parts. 10=2X5 .y .»pzél'/.lé'l;céf 34
() How does hydrogen bonding affect physical teGmnniel poter? 8 RER N B O N
‘ properties of molecules? :
"(ii). - What is meant by triple covalént bond? @ Sen ol bicksf b2 (i)
(iii) . Why does a Covalent bond become Polar? @ ?C_Hﬂju[‘;j 5:;_-,1,/41 (iii)
(iv)  What is meant by amorphous solid? Give an examplg @O _é,dpvﬁs‘?,l/u"ljﬁujhg (.iV)
vy How evaporation is affected by intermolecular for’@ T et By
i(vi) - What is meant by-Molarity? % et el e (W)
(vii). -Diffgrehtiate between dilute and concer @r- ution. LSNP n L2 L oty (viD)
(viii) Deﬁje'Sgturated solution. Ew /,7&,‘ Y & (viii)
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SSC PART-l (9th CLASS)

NUMBER: 1487

CHEMISTRY GROUP-I PNy S 4
TIME ALLOWED: 15 Minutes OBJECTIVE u"b/'.a? 15 = &y
MAXIMUM MARKS: 12 MTn -4 -2 12= AF

Y 2y S Lf IO L N ene UL s Ly Q317 -t Es D 11 C B A A2 Ly S
{24 ,b’;igg;d/:‘dfgﬁ.wfdl_):4 Lssts Sl Nz i pmnt S S Sk L LSl ki 25
Note: you have four choices for each objective type question as A, B, C and D. The choice -u;/QJ';Q.-,m,»
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) On the Pauling Scale fluorine has given an electronegativity value: -‘aé: a‘g}}glgﬁi;};{;}:c (Pauling) .ﬂg (1)
(A) 2.0 (B) 3.0 (C) 4.0 (D) 5.0

(2) In Sl system, the unit of force is: -c‘—&w}uﬁrwéﬁ.ﬂ' ()
(A) N (B) A (C) m (D) Hg

(3) The process of changing of a gas phase into liquid is called: (Lﬂd}fgﬂc)b(‘jtﬁ/‘;uﬁf (3)
(A) Evaporation ¢/ (B) Melting & (C) Transpiratior@/' "/ (D) Condensation o2

(4) A homogeneous mixture of two or more substances is called: o {& © -‘al:lkfgr Uk (Ploskic s (4)

(A) Solution (B) Solvent iz sy @ olute oy (D) Element ot
(5) A substance that reduces itself and oxidizes other i is €3 “ - du/ r;f/l,‘/!/u;/;wl‘./u‘iuf iig.u’ I (5)

(A) Reducing agent .::.f-!..ﬂ,;',g/ (B) Oxidi iné@ent_/‘l.f/uff (C)lon T (D) Radical ‘ﬁ.,y

(6) The oxidation number of all elements in te is: -q..txﬁ‘c/ijﬁ (1 Ju&lrv“u.'db;lﬂ (6)
(A) Zero (C) -1 (D) -2
(7) The most precious metal is: ,‘gd’i’_«-,‘f e (7)
(A) Iron @27 (B) Platinum (‘u (C) Cesium (£ (D) Silver s+
(8) The branch of Chemistry in which s O et A LUER s SAE LRSS @)
the properties such as structure of atoms or formation of molecules are studied is called:
(A) Bio Chemistry u’#ﬂf; (B) Organic Chemistry d/‘/{v@ﬁl'
(C) Physical Chemistry ({~£ K/ (D) Inorganic Chemistry (£ &/%Tu!
(9) Percentage of silicon in earth's crust is: -c‘_ﬂﬁfﬂétfu@u&j’/' /"" (9)
(A) 28 (B) 47 (C) 78 (D) 86
(10) The smallestamountof energy  -e Gl e (e ieltbut e SAISL SaeSan B ide 835 (10)
that can be emitted or absorbed as electromagnetic radiation is called:
(A) Momentum ("fr (B) Valency u’"% (C) Orbit &7 (D) Quantum f"?/
(11) Salts of sodium on burning give colour: -uj'z:.:vé{éﬁuﬂvﬁé:‘r (11)
(A)Red { (B) Green (C) Blue 1 (D) Yellow U
(12) The valence electrons which are involved in _q.blg({/h/’-gl J%Lb%.ﬁu:v@gﬂ (12)
chemical bonding are termed as: (A) Attractive forces y/}k(/’l
(B) Repulsive forces v (C) Bonding electrons s 421 _£%| (D) System energy 5./

21(0OhiYf *‘ﬁ’*ﬁ’\-amom\-mnnn {MI] TAN)



CHEMISTRY GROUP-| | Y SN
TIME ALLOWED: 1.45 Hours SUBJECTIVE _filL» 145 =

MAXIMUM MARKS: 48 M TN -6 48 = AF
NOTE: Write same question number -gbuu"a./.ﬁr’,ﬁ?éfZ/»//;]/:f/‘d‘rd‘udKdii Y
and its part number on answer book, as given in the question paper.

SECTION-l JsL.»

2. Attempt any five parts. 10=2x5 -éf/fuﬁ’félﬂétc‘.d[ _2
(i) Define Molecular Formula. “arw&-léc;unmﬁ/rc,r -C{J/Junu//t. (i)
How is it derived from emperical formula?
(i) What is meant by atomic mass unit? v9&n¢2g6uvu:uyrf eolrle (amu) eyt (ii)
Write its value in grams.
(i) Differentiate between organic and inorganic chemistry. & £ 0 A Tl 1l T (iii)
(iv)  Write any two properties of neutron. -46.-.,{“.”"'»5 J/Juu‘x’ (iv)
(v) What is meant by carbon dating? ?‘gﬂ/tfc.féicpg (v)
(vi)  Why in a period size of the atom decreases from left to right? ?‘amﬂ_)[ uf,l:c,gjf;y’ L/Kﬁlui‘}}/;r (vi)
(vii) ~ How many groups and periods are in the modern periodic table? Stk 531&;/@‘,):'&"‘.(555;-)/5(. (vii)
(vii)  Why are nobel gases not reactive? w'Jru”} Pfld/u[ uf‘fd’:’ (viii)
3. Attempt any five parts. 10=2x5 e linble 3 3 )y
(i) Differentiate between polar and non-polar covalent bond. s /JﬁLJ»’Q}'UD}’/’! (i)
(i) Why is the BF ; molecule electron deficient? ®Ldyu/ JEo 98, BFy (i)

(iii) Write down any two properties of polar covalent compounds. Q _i/fuu%:ddf&hbﬂdﬂsﬂi (iii)
(iv)  Define absolute zero. % %} -g‘:hg/’&“//u g _y.u-,\,/gl (iv)
(v)  Differentiate between diffusion and effusion of gase @ ,uéj{.uﬁwh"‘«wuﬁ'z%‘gfuﬂ/ (v)
(vi)  Why does evaporation increase at high temperat ‘-‘g.&lga‘/.u:.{/{ Z-/.,;uycﬁ/{_:zl (vi)
(vii)  Write down any two uses of calcium. @ Y faﬂb"‘wc,éfﬁfﬁ’( (vii)
(viii)  How does electropositive character charge.i ?géndj,g?cfw(;k/’g;}glu:é /,;J;!..;,;fZJf..f}g/g (viii)

a group and period of periodic tabl

4. Attempt any five parts. 10=2x5 -éé(i:-«“iccl']fétc.—d/ 44
(i) What is meant by supersaturated solution? 02 "c)l/bfc,u’:",wf’ g (i)
(ii) Differentiate between dilute solution and concentrated solution. 02 u“’{)/u'g/)’»z /":;U}’ur}b (i)
) \ ke
(i)  Whatis meant by _74SS (ﬁJ percentage? 02 S“a)ygf:,(fj? (ﬂ) . (iii)
volume \ v v (A 's

(iv)  In which solvents, non polar covalent substances 1+1 el Surin it Ve =4 ledsiat  (iv)
are soluble? Give an example.

(v)  What are weak electrolytes? Give one example. T+1 el Seoe Sl )
(vi)  Define rusting. Write its important condition. 1+1 ?gyl;(nu/w J/J,{,@L (vi)
(vii)  What is the principle of electroplating? 02 °¢LU:"1K._Q¥)/GI (vii)
(viii)  Differentiate between electrolytic cell and galvanic cell, 02 =G, Yol F A (i)
SECTION-II (132>
NOTE: Attempt any two questions. 18=9x2 -»é;f";,gmégwmz_éf -
5.(A)  Explain five postulates of Bohr's atomic model. 1x5 -g{Ju;JVLB’/‘éLLJHJWJ ()5
(B) Give any four differences in compound and mixture. 1x4 & uw/wc_dyuf;ﬂu,tf (o
6.(A) Define ionic bond and explain it with an example. 1+4 /= ‘Lo:chJA’J/J/’JﬁLJf’ (.6
(B) Write four factors on which diffusion depends. 1x4 ('c‘_t')’/J/-ﬁJlau( PAIBES ()
7.(A) How can we prepare NaOH 5 -Z:uL«J’/éu’MVL(I/LU..‘mJ’ "c.LCbLEbd/yu/I;u y(;y/z.k'u’} (.7

on commercial scale? Discuss the steps alongwith flow sheet diagram.
(B) Write any four physical properties of Non-metals. 1x4 uf{«ur"d’b(agfdfgf)é“ut ()

PN IR b i =N



NUMBER: 1486 SSC PART-l (9th CLASS)

CHEMISTRY GROUP-II

’/)) - h;d’/ d‘/;(
OBJECTIVE (%o co 15 = <y
MAXIMUM MARKS: 12 M TN 0522 12= AF

Fe L /CLJ':fb,‘ils'?g}fUz;‘Z:.,lzu»c,uf u,ﬂ:é’:é_)&lfﬁdlr/:{d(dfi _ujéé_: D . C B A &L’R}EQLJ',’/; -

{24! -(Lb&)uﬁ‘}"(jfgﬁau‘gfd./ﬂ/; !{);?b ~@f/!‘7k15-,l£u:&u:au‘b(2./q Joy 4 L/Z:(Ju’bv_l_,}c,qﬁ -2
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/,;‘)’ﬂ}.-,mr

TIME ALLOWED: 15 Minutes

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Which one of the following gases diffuses fastest? e J/@£~5cd ):deufc_,uﬁul 1)
(A) Hydrogen (/5.4 (B) Fluorine q»f’ (C) Chlorine d:JIK (D) Oxygen J’“IT

(2) The molecular formula of Sulphur molecule is: _‘gmu,oud,ﬁwz?tﬁ,ﬂf (2)
(A) S4 (B) S5 (C) Sg (D) Sg

(3) Which one is the example of "solid in solid" solution? e JESUAAEA vl (3)

(A) Butter u"(
(4) Which one is Non-Electrolyte?

(A) Ca(OH), solution /4 Ca(OH),

(C) Sugar solution /%

(B) Smoke in air Uil

* %\ e A Pigtigs
@O@g solution /6 HCI
@%5 (D)

(C) @@@ (D) Brass (JF)U1s
O

NaOH solution 7+ NaOH

(5) The oxidation number of chromium in KoCr o e AFITRES KyCryO,  (8)
&
(A) +3 (C) +6 (D) +7
(6) Which one of the metals burns iden yellow flame? ?‘L—Gteﬁ;.(/&&;vz:—uéédf(f:du’(;u:d! (6)

(A) Sodium (% s (B) Iron w7 (C) Calcium ,*5’(

(D) Magnesium auiiSys
?‘;" ¥ Mﬁédufcd:gfgbu (7)

(7) Which one of the following is a heterogeneous mixture?

(A) Air I (B) Rock ¢/(3 (C) Gasoline @*+f (D) Ice cream (/T

(8) The empirical formula of glucose is: _q_urjﬁgﬁ/j'bﬁf}g (8)
(A) HO (B) CH (C) CH,0 (D) H,0,

(9) Which isotope is used for treatment of skin cancer? ?g.bndv;fg’.éawé/u%,i://%uf (9)
(A) C-12 (B) C-14 (C) P-32 (D) 1-131

(10) 2nd and 3rd periods of long form of periodic table are called: -t ZEA5k pe Ane mdl JES GG (10)

(A) Short periods it @ /* (B) Normal periods 4zt
(C) Long periods 4 ¥ (D) Very long periods 4,9y
cealE ekl (11)

(B) Donation of electrons t/:y(?:}g!

(11) Covalent bond formation is due to:
(A) Sharing of electrons t/_f 6 291
(D) Repulsion of electrons Lo a7 2
e a AN Ludle it (12)
(A) CH, (B) C,oHs (C) NaCl (D) CgHg

(C) Acceptance of electrons t/u...;_g_&,..&ﬂl S

(12) Which one of the following compounds is soluble in water?

23(Obj)( ***)-2022%)—60000 (MULTAN)



CHEMISTRY GROUP-II sy - -,»f =4 —1

TIME ALLOWED: 1.45 Hours SUBJECTIVE &l » 145 =
MAXIMUM MARKS: 48 MIN-G3.22 4 = A4S

NOTE: Write same question number . (s Z_/Jlr’,f?i CJ;/;/"»U/JVJ‘:/G iz s
and its part number on answer book, as given in the question paper.
SECTION-l ()i

2. Attempt any five parts. 10=2x5 -c{//uuiélilétc,df -2/
(i) Define free radical, how is it generated? fe vé g l?/cf J/"JJg A5/ ()
(i) Calculate the formula mass of KZSO4 . c{r}”dwr/w KZSO4 (ii)
(iii) Differentiate between atom and ion. _ZU/uV»LJ w( | (iii)
(iv)  Write down the electronic configuration of Argon. ~£/ /u’ /G’? £y /ﬁ!d/uK/ (iv)
(v) How did Chadwick discover Neutron? ?gugz:é/ um:&...é 2, (v)
(vi)  Define electronegativity. _ e YAt g’:‘g’}g? (vi)
(vii)  How does atomic radius change in a group and e tm)_x,/zﬂf-'é/u( 99 [wl.,,,jzgﬁ._ﬁg/g (vii)

period of periodic table?
(viii)  Why ionization energy ?‘gdn[.i}’gg; ;{,;¢7,[,;5ﬂ2‘;;;w2y b b Wbl S s (Vi)

increases from left to right in a period and decreases from top to bottom in a group of periodic table?

3. Attempt any five parts. 10=2x5 G fe Lzl & 3 A
(i) What is meant by polar covalent bond? 02 VC_J'/[/(G'_—)LJ)JO)' (i)
(i) Define van der Waals forces? What is their nature? 1 + 1 "u* S - /-J/"u( a3 sl (ii)
(iii)y  Write two properties of covalent compounds. Ul ..,Lar"mfu; Lf.._-/‘uf (iii)
(iv)  Why rigidity is present in solids? %G §.dudtu/ GG (V)
(v) What is meant by evaporation? @& "c_;l/t/c.‘/ ~yegl (v)
(vi)  Differentiate between vapour pressure and condens - /ubu/J S {0 (Vi)

(vii)  What are halogens? Give any one example. @ 1+1 -é;dtﬁ'..f de s /Lfr— /}' (vii)

(viiiy  How non-metals are essential for the existenc Y 02 “u‘d»/‘d/iitﬁu)’“ O] (vm)
4. Attempt any five parts. OV10=2x5 _éfqu}’ZJ]'éLLdJ -4/ )y
(i) What is meant by molarity? Write i : 1+1 Unb(u’l “:_)l/l/c.(j/’r (i)
(i) Differentiate between saturate saturated solution. 141 ~é EndpL S Fni g (i)
(i) Why test tube becomes warm when Li ,S0, 02 e Jomudp /bl bl S LnSO, w2 (i
is dissolved in water?
(iv)  Whatis meant by percentage %% Mo/ give an example. 1+ 1 -&Ji el My, Y- é{{ (iv)
mass m m Jb O
(v}  What s salt bridge? What is its basic function? 141 “c.bfrfd)l»{ul ‘LJL/JV (v)
(vi)  What is difference between valency and oxidation state? ]+ 4 "au/b@fuﬂf ST u;lu’“' (vi)
(vii)  Define electrochemistry. c{J/Jd/ /ﬂl (vii)
(viii)  Write the redox reaction taking place during 02 &UJ( I8 u/Lbcrulmé.@hfa J(’:/ (viii)

the electroplating of chromium.

SECTION-Il (.2

NOTE: Attempt any two questions.  18=9x 2 el ey 3 o
" 5.(A) How many isotopes of hydrogen are there? 1+ 4 u‘ardwld/u-:‘f luﬂ//»bﬂuﬂ/:/{c‘f&gﬁ/ (-5
How isotopes are used in power generation?

(B) Write any four properties of molecular ion. 1x4 -u/ut/..,u%b&u l/’ral. ()
6.(A) Define and explain co-ordinate covalent bond. 05 -J/..»LomU/J/JJLJ;fu::u ¥ ()6
(B) Define vapour pressure and which factors 1+3 ‘.‘ugi.mul/g Y 4:1//-5’9():5:'@/4 /"J Y £ (&)

affect on vapour pressure? v
7.(A) Define electroplating. 14242 -l 91 e UK P g IS B (L).7

What is its procedure? Write about electroplating of silver.
(B) What are non-metals? Describe their three physical properties. 1+ 3 -g:/uga“w"dfwg(uf 01" a0l (L)
23.2022(A)-60000 (MULTAN)
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NUMBER: 1487 SSC PART-l (9th CLASS)

CHEMISTRY GROUP- mi-ah -2t -t G
TIME ALLOWED: 15 Minutes OBJECTIVE (%72 w215 = =
MAXIMUM MARKS: 12 12= A

S i \ SIS QL R U sl ése L g Q612 .yLi D s CBA ez bl LS
VEIS V] _{L:lg&)ﬂ.ﬁ’&fgﬂ:,u‘g(i.);/: ;’:J;/’b -?ﬁu"rw,«lﬁw&u&wﬂ(f;& Sk | é,f,ifu,}lmg::,..g il
Note: you have four choices for each objective type question as A, B, C and D. The choice -Q/C‘«JZ::«U‘/
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Along the period which one of the following decreases: %% 3:1&3601’2'—03 Uiktbadl (1)
(A) Atomic radius S St (B) lonization energy GAF LT
(C) Electron affinity &)}u;}gl (D) Electronegativity ¢, ey

(2) A bond formed between two non-metals is expected to be: -fng&fi‘wb&. Ul At (2)
(A) Covalent bond fcg.wa (B) lonic bond  %L-£¥T
(C) Co-ordinate covalent bond /‘:L&:/.:;‘Lf’f (D) Metallic bond IR

(3) Triple covalent bond involves how many electrons? 4.»%;9:.»‘141-;%&) (3)
(A) Eight £7 (B)Six 2 (C) Four /@@ (D) Only three £ ,

(4) The vapour pressure of a liquid increases with the: - %Q ‘-’c‘-l?"/..,/ /‘.4 /7:%51. (4)
(A) Increase of pressure < &_sI% 2/ @?l crease of temperature & LoIU% Z~/

ten LSl dits ()
Na,CO; (C) CuSO, (D) Ether A
WA df._»:‘_t* =h1 (aqueous solution) SHUE 6)

(A) KC¢
(6) An agueous solution is formed

a substance is dissolved in:

(A) Benzene iy /< (B) Ether S A (C) Water u:dg (D) Carbon tetrachloride u:fu’b){f}fa%

(7) The formula of Rust is: el (7)
(A) Fe,0y- n HyO (B) Fe(OH);-nH;0 (C) Fes0, (D) Fe(OH),

(8) The oxidation number of oxygen in per-oxides is: i b XL Ty paivs I'de”! 7 (8)
(A) O (B) -1 (C) -2 (D) -3

(9) Which one of the following metals burns with ?‘gJ‘”-JVLBJ’LL?'/@W/&MJ:W,Eu:u; 9)

brick red flame in air?

(A) Sodium (¥ (B) Magnessium ,iuilss  (C) Iron osT (D) Calcium (”

(10) Which one of the following molecule is not tri-atomic? "c‘-u'-"Uzg WS e s (10)
(A) H, (®) O; ©) H,0 (D) co,

(11) Which one of the following consists of three sub shells? ?ugZ.ﬂ)-j.,/gyfgjiJ/ e Sdits (1)
(A) Oshell £ O B)Nshel EN  (C)Lshell KL (D) Mshell £ M

(12) 4th and 5th period of the long form of L auf Lt S Sl (12)

periodic table are called:
(A) Short periods 4zt (B) Normal periods 74zt
(C) Long periods 1 4fs (D) Very long periods YL
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SSC PART-I (9th CLASS)

CHEMISTRY GROUP-| be - o/ AL
TIME ALLOWED: 1.45 Hours SUBJECTIVE _Ui» 145 = =
MAXIMUM MARKS: 48 MIN-Gl-2/ a8 = AF

NOTE: Write same question number -C_Z‘/JJU:Z._/J‘)’J/?C{Z‘/J)/G?J)’/"J‘}"U-‘J{.L}_Kd'f. Y
and m part number on answer book, as given in the question paper.

SECTION-I Jsi»

2. Attempt any five parts. 10=2x5 -é/fu“}’é'i’é[z&d}( _24 )
(i) Define physical properties. Write the names of two J“J/Léuuf’d‘iwuf_ﬂ/&uuﬁf (i)
physical properties.
(i) Write chemical formulae of:  Washing soda, Caustic soda v ¥ - Bl u"ﬂ_nbdb’f (ii)
(i)  Define monoatomic molecule with one example. -J/.»_JL/JJ/"JJrgLJWr (iii)
(iv)  Write electronic configuration of ("¢~ in its subshells. -J//[J/"Q:/GU)’MJJ: ci (iv)
(v)  Write electronic configuration of sulpher and chlorine u"@‘)’._.réulu’/c{{/ﬁufuugj:yl’ (v)
in their subshells.
(vi)  What is the trend of atomic radius in groups? e Ju@JWMJWu’,/ (vi)
(vii)  What is periodic law? Who arranged it? "L:.//Lu’gfw "at/ rlh/iﬁ (vii)
(viiiy ~ Give the trend of ionization energy in a period. "C-U/u@ JW/’cf/V U’*/ (i)
3. Attempt any five parts. 10=2x5 -:{/fuu,?é’]létcd/ 34
0 What is meant by Hydrogen bonding? @ °c-J’/l/c:~fAu>!ML (i)
(ii) Define ionic bond and give its one example. @ f_UV»ﬁA’c{J SISt (ii)
(i) What type of covalent bond is formed in nitrogen molecule? S “c_u»LJ;fKﬁ/u‘draLZ.J;/L (iii)
(iv)  What is meant by absolute zero? o {&% < S gp) dgdgunt (V)
(v) Explain the process of condensation. @% -,é»:—?uvu{f f—u:““*“s (V)
(vij  Define solution and also give an example. %5 BESNLS SO -é’/‘gu; W (vi)
(viy  Define Brine. @ “E S (i

Ly A
(viii)  What is meant by percentage '\%an example. -SoaJenl ‘-'{—)’/LIC— i‘ Ty (viii)

4. Attempt any five parts. 10=2x5 -G{/fuwémétcd/ 4 )y
H=+1 and O=-"2 -s-g_)}"u )Z,u/ J,flé,f(wu)u) Lﬁd/rr}”/gf'x/ K/ FlUs HNO;, (i)
0) Find oxidation number of nitrogen in HNO; when the oxidation numbers of H# = +1 and 0=-2
(ii) \What is meant by weak electrolytes? Give two examples. & ijl/u “c.:/tfc.gf'ﬂyau: (if)
(i)  What is tin coating? Write its advantage. -g:f’qx GE *‘c.;l/l/c..ffu (iii)
(iv)  What is the principle of electroplating? "c—ler“"{-—@ﬁ/"” (iv)
(v)  Write the names of any four very reactive metals. -u“’u oL /W“-C Isertse U & v)
(vi) What are transition metais? Give an example. _ ;Jl/.ﬂ °¢J‘/JL)”J/‘/ (vi)
(vi)  Give the trend of non-metallic character in a group and a period “c_bfut.?%_,/;’.ﬂvutu“»m;pu (vii)
(vii)  How does chlorine react with methane in the presence of -J/ubu‘(ldm’tzﬁ J’,“KJJ,KJ&/(’,«JLM (viii)

diffused sunlight?
SECTION-ll /1.2

NOTE: Attempt any two questions. 18=9x2 -g{,//’.:,uzléguwc,d/ oY
5.(A) What were the defects in Rutherford's Model 5 ?Lnl,g_;aU!rtfc_u‘jliiululiu‘”@guidné5/;’/:/ (-5
and also write the guestions initiated by these defects?
(B) Define empirical formula 4 -J/Ju;gfurzbf/fz’_iutfjr wluf‘-;f:U/J/’JUr/bJé 2 (L)
and explain empirical formula for covalent and ionic compounds.
6.(A) Define and explain Metallic bond. o -J/’L»Lam'..df(fh.ﬁw ()-8
(B) State and explain mathematically Charles' law. 4 -u/&me;.»}dww/uwyb e (L)
7.(A) Describe oxidation and reduction in terms 5 -5.»LA;JUJ»wlu’rffc,é.lfﬁdﬂ’ulcl/léu;/? (-7

of ioss or gain of electron. . 3
4 -.:_(:‘V %V U)/J‘fkglyywwbg}/ 90cm’ V/uu*dw;ﬂ Sem® Ji (L)

(B) fwe add Sc'm ofacetone in water to prepare 90cm’ of aqueous solution. Calculate the

7/
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SSC PART-l (9th CLASS)

NUMBER: 1486

CHEMISTRY GROUP-II M Fo -G 2-U PO ST
TIME ALLOWED: 15 Minutes OBJECTIVE (32 w15 = =
MAXIMUM MARKS: 12 12= AF

S i o S 3ol Nrerna o st s\l g QB3I7 - L4 D 4 C B A ST B [ ROr
{24Vl -legL:df/ﬁMﬂ:uﬂJLﬁi J(J:/’b -Kmr"’blk..«LZuﬁLﬁaA‘JL& Sk L L/Hu,jl:.;gjc;..ﬁ <&2)
Note: you have four choices for each objective type question as A, B, C and D. The choice -U.‘f.’qfé"@mf
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 Ay
(1) Chlorine atom has electrons in the valence shell. -c‘-wji’/'g' Jﬁt)ifk&!{,-’(.:’tiﬁg M
(A) 1 (B) 2 (©) 5 (D) 7
(2) A bond formed between metal atoms due to -c‘-rlk'( «‘;.rgJ:@c.m}’y's}?id)gdlruw&f:w@zﬁLla' (2)
mobile or free electrons is defined as: @
(A) Polar /¢ (B) Metallic (©) Non-po@;t (D) lonic £¥T
(3) Polar liquids have vapour pressure than o @%O/f.{é:éét){utﬂ{g.;(él./g{/}/,}&u_ﬁ 3)
non-polar liquids at the same temperature: @%

(A) Greater sl (B) Low (/ @%5 (C) Equal i« (D) Dynamic 13

(4) A solution containing maximum amount of solute‘\@? _%mf rxd‘)ui»u&)c;ug)J:»Jr{/f-/,‘dbfu’(uﬁ‘f-cf}’w (4)
O

at a given temperature is called:
nsaturated ,ﬁu{c)i (C) Saturated 2, (D) Dilute L1
solved in one dm? -q,&ﬂ»,f mCfJJ’gﬂJ}‘.‘,Lf/’f&5éﬁ:lﬂJﬂf£_:«£r (5)

(A) Solvent <y
(5) The number of moles of solute
of the solution is difined as:
(A) Density =30/ (B) Molarity (5,2 (C) Percentage C“/ (D) Dilution /513
(6) The addition of hydrogen or removal of oxygen uif AL ngr"f—gfuf@u'wﬁdig s (6)

during a chemical reaction is defined as:

(A) Oxidation 4T (B) Reduction' P2,/ ((C) Electricity (> (D) Electrolyte Y

(7) The oxidation number of all elements in free state is: -c‘_t'n/:"ﬁ}_#/Wu}c%rﬁgﬁ:)b:uT )
(A) Zero ssJ (B) +1 (C) -1 (D) -2

(8) ltis least reactive metal: -c‘_J‘:f{ ldjﬂfu?://., (8)
(A) Potassium (f‘:tt_g (B) Calcium (.ﬂ»’( (C) Magnesium H....,...L. (D) Copper 4(

(9) The chemical properties depend upon the composition of the: -‘at'.»q.,{.‘/}J___ J\f!&pgaréég{ )
(A) Matter ot (B) Atom (% (C) Substance & (D) Mixture 5°

(10) Rutherford observed the effects of particles on a photographic plate: -%4@(@')’&%}&{&;&.;.{ SIiists  (10)
(A) Gold 4y (B) Gold foil fi2~  (C) Alpha & (D) Helium (£

(11) The number of groups in periodic table are: -{-:'»’-Jui’juﬁf:ﬁk/ﬁ (11)
(A) 2 (B) 7 () 18 (D) 32

(12) Long form of periodic table is constructed on the basis of: -{_)Lf':JJ’“";GL[?.JTpGﬂ (12)

(A) Atomic mass St (B) Mass number /:}JL (C) Atomic number /‘JL*I (D) Groups ui;f

o
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. SSC PART-l (9th CLASS) B
CHEMISTRY GROUP-II o ond A
TIME ALLOWED: 1.45 Hours SUBJECTIVE (L2 145 =

MAXIMUM MARKS: 48 MM -4 2-2] 48 = A
NOTE: Write same question number -C‘Z.Z'/J}U:Z_:—/r.;“%.’/ﬁﬁiZ’;J)/’,‘)ZJ)‘/.’U‘/L{‘){QKL}’)? Y
and its part number on answer book, as given in the question paper.

SECTION-l Jsl.o

2. Attempt any five parts. 10=2x5 -gf_f{fgglzél'ﬂé&céf _2/.{}1/
U] Define Avogadro's number. -é’;.éj /‘7 J /,}Jul;@{l (i)
(){)‘ What is atomic mass unit? Write its value in grams. ~q,€gc»:’: o urlf JJ! ‘.‘ujié ..ff'gu’l,..f ¢ (ii)
(§i) . How molecular formula is derived from empirical formula? fe bl b iribg i)
)  Whatis the difference between shell and subshell? Give example. = Je ?.f_J;gu:Ji/mJ? (iv)
() Write the electronic configuration of chlorine C¥, in <4Uﬁ/ﬁ/.{ LS Cly g W)
different subshells.
(vi)  The size of the atom decreases in a period from left to right, why? sus ‘uf":auflg‘c m’fjvg‘..cu:),:@ (vi)
(vi) Why does ionization energy of elements decrease from S‘g.&nu[ {é_.cygﬂu’./‘fu?itfﬂf '““UI.{,); (vii)
top to bottom in a group?
(VM " How many groups and periods are there in modern periodic table? ‘.’ujj,_‘g [wlg/a)/éfut J‘;@yjuﬁt (viii)
3. Attempt any five parts. 10=2x5 @‘ {faklﬁﬁlzlégc(ji/ ~3/.’;le

@@ a0
(i) ~ Whyis BF; electrons deficient? o {&%O te sl Bfis '/"fig i BE (i)
@iy Define intermolecular forces and also give an example. @% -gf:)u"{db"..gulg,{ s.._a,//"d/ '//,;’),;gr/*«‘l (iif)
livy- Convert 750°C to Kelvin temperature(K). SIS (K) ﬁ‘/;;u)‘!;’/ 750°C (iv)
(vi Define vapour pressure. @ SRy yz (v)
(k- Define solubility. @ ESEy (i)

(i) Define chemical bond with an example.

&li«) ~"What is meant by valFs % ?‘a:l/g/c( %~ )% o (vii)
volume v £

(vii) Why is a solution considered as a mixture? e r&ggf/&*urfg‘;fﬂ" (viii)

4. Attempt any five parts. 10=2x5 -_‘é{fagm&még;é/ -4/-."U1r

1)) What is redox reaction? ?ugé'i./cf ﬂ 164//@; (i)

@)  Whatis electrochemical cell? ?q;.y’J—’Jé‘f,}?: (i)

H=+1 s O=—20uip Afsl L Pkl ‘Tx,zqfr)r/(ﬁz_/ Te aftuh HNO; (iii)

(ﬁ)) Find oxidation number of nitrogen in HNO;when oxidation numberof QO =—2 and H = +1

iy WhyCH,COOH is a weak electrolyte? te_ud 2 L CH,COOH (W)
(\)\)/ Write two chemical properties of metals. -u."’ﬂ c«lf!“; dL,:_C,Jj-i“ )
(v What is the relationship between electropositivity and ionization energy? -uj/uyﬁu AV 174 T/:'&,;?.J,g:/‘gl (vi)
(viiy  Write any four properties of platinium. -L[/uy.:.y/}w J)L(ff!g (vii)
(viij Define Transition metals. QSIS (vili)
SECTION-Il (.2 )

NOTE: Attempt any two questions. 18=9x2 -é;fogfﬁéamn:;(}f -
% Wirite down the results of Rutherford's experiment. 5 E.97¢ él;'aCz,__ FL b (D).
(B) Write four differences between compound and mixture. 4 -é{fbf./_:bdf g‘gﬂfci tf ()
6.(A) Define covalent bond and explain its types. 5 -u"/yu,JrLSiJumu/.éfiJkg_u&,/ (-6

(B) State Charles law and give its mathematical explanation. 4 -u_/yu@u‘fumu/uyum b’uj/l,a ()
7.(A) Define electroplating and explain the electroplating of silver. 5 Sl Gk 2O Gkl g S P8 k20 (-7
DY BN rmmlaritvu and Aarivie’ farmiiia to 4 ,u‘/}élUfj(&éﬁi,/:?c/&)//f/ﬂq}:_éffd/&ﬂf (u)
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PAPER CODE 2019 (A) s
NUMBER: 1483 e

CHEMISTRY (NEW SCHEME) GROUP-l (2015-2017 ¢ )t -/ (& 2) $A£
TIME ALLOWED: 15 Minutes OBJECTIVE (_f‘:/’/ e 15 =
MAXIMUM MARKS: 12 12= AF

S | SIS IE i psrse i UL sl g Q6312 - L ls D 191 C B A AT Ll LS
EIR Y -fL(g}Jd/?Jfgﬂ&M{L.&i )(:b?b -Mbkglzuﬁ‘ﬂu:uflﬂ_& Jok L L/i&;,ﬂmyz..ﬁ &
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/,;JZ,.:.w,«
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Which one of the following gases diffuses the fastest? "c‘-af)‘f'-jc.d ;EnL)J!J;(c,Jul (1)
(A) Hydrogen ¢/»,%}  (B) Helium (" (C) Chiorine ¢/ (D) Fluorine ¢/
(2) Which one of the following will show negligibie effect of @'d:‘” Céd‘{d%’f&/ = (2)
temperature on its solubility? e
(A) KCI (B) KNO, @ (D) NaNO4
(3) Which one of the following is an example of solid in s ion? R -f;(cuf Jielﬂd"?u(cf‘)’ JALUF (3)
(A) Butter u‘: (B) Fog £=» (C) Brass ‘ﬁ" (D) Cheese /z
(4) What is the oxidation number of Chromiu &;207 ? S bl AP TS K CrpO7  (4)
(A) +2 (B) + (C) +14 (D) +7
(5) The solution of which of the f salt is called brine? s LSS NS et ipr ()
(A) NaCl (B) KCl (C) KNOj4 (D) KBr
(6) Which of the following non-metal is lustrous? ?.;_/uéd"-ut(f;f;gﬂdiejp (6)
(A) Carbon € (B) Sulphur /" (C) Phosphorus (%6 (D) lodine ¢/ 5{7
(7) Which one of the following elements is found in most ?;.rg»ggny;,.,/‘;‘,bu/ MUfadiigzﬂ 7
abundance in earth's crust?
(A) Oxygen o= T (B) Aluminium (#3 (C) Silicon WL (D) Argon T
(8) Which of the following scientists discovered Proton? NIE Y u’fu;'%:..ut ISt (8)
(A) Rutherford 8 (B) Bohr 4 (C) Goldstein Jl’/ﬂf (D) Thomson %
(9) Long form of periodic table is based on:- - :L_»'.JJ’“"..GL ,&.JTrJGJJ (9)
(A) Electronic configuration c,zx-&’( ..f:}? f (B) Atomic mass JhL
(C) Mendeleev's postulate Js1gikix (D) Atomic number £t
(10) How many elements are there in 5th period of ?9.‘}:{'»7;; J“Elu.‘.é_ 4 &Lﬁﬂg&.ﬁpﬁ.ﬂ (10)
the long form of periodic table?
(A) 8 (B) 18 (C) 26 (D) 32
(11) Which one of the following molecule is electron deficient? ?.:;_Jlgﬁg«ﬂf y';/'?lu.’.dzgtfeutds.pﬂ (11)
(A) NH, (B) BFy (C) Ny (D) O,
(12) Which one of the following pair contains polar covalent bond? ‘.“ctﬂfcgw&:{)‘;‘ Al St (12)

(A) Cl, & O, (B) N, &H,0 (C) CoHy & H,0 (D) HCI & H,0
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TIME ALLOWED: 1.45 Hours SUBJECTIVE 35?5'.0 £145 = =
MAXIMUM MARKS: 48 48 = A4S

NOTE: - Write same question number -q_b/:uﬁ;_.;.gir.fr?gf: Z'/J:/.%ZAIAUIM%QVQB -

and its part number on answer book, as given in the question paper.
SECTION- sl

2. Attempt any five parts. 10=2x5 -é(i—«WLV'&&:.Jf -Z/Jlr
()  Define Physical Chemistry. LGS LSO
(i) What is meant by Physical properties? Give any two examples. -u_;d&»o‘é/ ‘.‘q..;l/y’:..,gay*’d:‘b (ii)
(i)  Define Compound. Give example. e g S sy i)
(iv)  Define Plum Pudding Theory. SIS A ()
(v) Write down any two defects of Rutherford's Model. -uquiﬁ;»c.éfédﬂh;’/u (v)
(v What s the difference between Groups and Periods? ‘e VU ié/fv/"ufs"’/( (vi)
(vii)  What is meant by Alchemy? “L)l/l/c.df L (vii)
(viii)  What is Electronegativity? Write its unit. < ./gb’w S UL ¥ ,0, (viii)
3. Attempt any five parts. 10=2x5 @}Lwﬁm&taéf 340y
(i) Define Covalent Bond. e,‘:..»/‘J;gM,f (i)
(ii) Write two properties of non-polar covalent compounds. {&%O _gf-,:{ /{:Lﬁ"»&;: (wﬂgut (ii)
(iiy ~ Why Covalent bond in H, is non-polar? @% S‘:,muﬁgutﬂ,.»%fd Hy (iii)
(iv)  Define Crystalline solids. Also give two example %5 &S S E AT W)
(v)  Describe the effect of external pressure on bm@ point. -g";’ul_.x}lbfﬂg}’,g{&tg.@"i (v)
(vij  What is meant by Percentage-Volum Se st e ol / et -6"'.’4 (vi)

S eSS (i)

(vii)  Write two characteristics of Sus|

(viii) ~ Why test tube becomes w. en Li,SO, o Qenud /ot le beUUEdY LipSO, w2 (i)
is dissolved in water?
4. Attempt any five parts. 10=2x5 el §f -afddy
()  Define Oxidation and give an example. & JenLlgE oy AT 0}
(i)  Whyis O, necessary for rusting? ?‘adu/.’u[ (0y) J:f L L B (ii)
@iy  Whatis Electroplating? S G/ B (i)
(iv)  Define non-Electrolytes with an example. Sy PSSVt ()
(v)  Write any two chemical properties of Metals. e Lo Sy A )
(vij  Give any two examples of very reactive metals. &by SR e (Vi)
(vi)  Why is the ionization energy of "Na" more than "K"? Tl uxe 'K GASEIE i o"Na" (vil)
(vili)  Write chemical reaction of H,, with F5 and Cl,. LE AL AL Cly M Fp € Hy (il

SECTION-II s+
NOTE: - Attempt any two questions. 18=9x2 -g{{]’a&lzf.aﬂln:c.éf -2

5.(A) Write down any five characteristics of Cathode rays. 5 -,_-:;’; f;. ,aﬁf;,-wé/b(z,?{ (-5
(B) Define the following:- 4 Y AsSien (L)
Molecule Js2 (v)  Free Radicals 3,606 (i) lon &7 (i) Atom (51 (i)
6.(A) What are Intermolecular forces? 5 e S PRy U /u’)zgt A1 (I)-6
Discuss Hydrogen bonding in detail.
(B) Discuss Charles's Law of Gases. 4 -J./.;?U:ijﬁ'é‘f'/l'uﬂc_/llé / (o)

2 (AY Dieries the electrolvsis of water in detail. 5 .5‘::r ukcﬂ 7:’,/'95&& (N-7
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PAPER CODE 2019 (A) A
NUMBER: 1482 SSC PRRT-1 (9th CLASS)

CHEMISTRY (NEW SCHEME) GROUP-Il (2015-2017 ¢ ) '/»-..,,/ (%) G
TIME ALLOWED: 15 Minutes OBJECTIVE (.0 215 =
MAXIMUM MARKS: 12 12= AF
S o\ SIS LN mrne S I s L g YR -7 L& D 41 C B A =2 L) -

(ogdrt Ko At S 2k Sssts izt a oz S IL S LS imskie Ll -5
Note: You have four choices for each objective type question as A, B, C and D. The choice -u'/ J"/}_.uv
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Which one of the following molecules is not triatomic? ‘.“cuﬂ}J BIJI/‘J z-aLLJ'/:.JJ B (1)
(A) 05 (B) H,0 (C) co, (D) H,

(2) Deuterium is used to make:- @.WI_ALLW(:.JU!&/‘_} (2)
(A) Heavy water /iy (B) Light water o) (C) ter /2ty (D) Hard water /153

(3) Which one of the following Halogens has lowest Electronegat@% r_fa../u‘ ﬁ’c /ﬁld/u’ W de S J’ s 3)
(A) Fluorine ¢/ o (B) Chlorine ¢/ A @ C) Bromine 214 (D) lodine J;r!

(4) Fourth and fifth period of the long form of peri e are called:- -J’:.Mu AL L»Wib’d’ ¢ il L !(/b.@ (4)

B

(A) Short periods 4 2l [ periods Lt

(C) Long periods J}‘;/:.-.f:' Very long periods 74 /:7.1:’;5_/,

(5) Which one is a good example of Triple Covalent Bond? ?90’;0%’5 leg.u‘.oQ} (5)
(A) N, B8) 0, (C) H, (D) Cfy

(6) Which one of the following s an electron deficient molecule? Y(‘_JL?J&JJ%;?!‘;MLJ:.JJ;@” (6)
(A) NH; (B) N, (C) BFy ) 0

(7) Which one of the following gases diffuses the fastest? fe Bfiz"”}c.d ;iu{f;(:.uﬁufi(g» )
(A) Hydrogen 7% (B) Helium (£ () Fluorine ¢/# (D) Chiorine ¢

(8) Agood example of Suspension is:- ~{-J¢‘0{’J S )
(A) Tooth paste Sasy (B) Milk 2222 (C) Chalk in water Jl_gufég (D) Blood us

(9) Which one of the following solutions contains more water? e rnugidwijﬁ’fc..j! it (9)
(A) 2M (B) 1M (C) 0.5M (D) 0.25M

(10) The formula of rust is:- -‘LU)’JSK.:/J (10)
(A) Fey03.nH,0  (B) Fex0s (C) Fe(OH)3 (D) Fe(OH)3.nH,0

(11) Oxidation number of "C?" in KC{Os is:- ..c‘_/f?cﬁ,’y/ wWrcen . KClOy (1)
(A) +1 (B) +2 (C) +4 (D) +5

P T A TP 149\
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TIME ALLOWED: 1.45 Hours SUBJECTIVE (L2 L1145 =
MAXIMUM MARKS: 48 48 = A

NOTE: - Write same question number -4".6»@%.4.}'}’/:?"5 Zy/:/',’:'ZJ:'/iUM}"){QKL}M R
and its part number on answer book, as given in the question paper.
SECTION-l (il.o

2. Attempt any five parts. 10=2x5 Efen i 3 240y

()  Write any two applications of Inorganic Chemistry. -éq:«vb*""»é:dk{ )

(ii) Differentiate between Homogeneous mixtures and -g’;:&/;gﬂij;( u’-'fs y 45 0l /;;{ L (ii)
Heterogeneous mixtures.

(i)  Define Formula Unit and Formula Mass. gy i)

(iv)  Describe two defects in Rutherford's model. S SOl L (W)

(v) U-235 fission produces two atoms of which elements? ?ufz_ntg.;(‘:!»:,ufc, u” L U-235 (v)

(vi)  Define Atomic Radius. Also write atomic radius of Carbon atom. -40‘,5@41.1 t'b’(‘ZGuf/K & . FEAaLE (Vi)

(vii)  Describe any two important features of long form of periodic table. &l _-,yf’(ﬂ»JJfJMJTpG.Q (vii)
(viil) What is Shielding Effect? <e/ ) fe el (vii)
3. Attempt any five parts. 10=2x5 . (O _Zfevrlizledd 340w
()  Whatis the difference between Lone pair and Bond pair of ‘-’4‘-«3)2@5 Jokl o /:-u:’éi:f‘? ! 0]
(i) What type of Covalent bond is formed in Nitrogen mol _?:;.U.fvgy‘:’/ VC) v ufdzg WLt (i)
(i)  Why HC? has dipole-dipole forces of attraction? @ ‘-‘u_.‘dtgdgu[y/;’J;dw-J{drw!‘C HC? (i)
(iv)  Define the term Allotropy with examples. @ : i /ul“f./c..:ugl‘/fgé,:}il (iv)
(v)  lsthe Boyle's law applicable to liquids? Gileredson. -uj/ut_f.,p ?‘au:iru‘fé_é.;bftuiﬁ'w ':.'l;( (v)
(vi)  Why does the suspension not form ogeneous Mixture? ?Z.lzg/.f‘;u:d//f{ T (W)

(vii)  Give two characteristics of Co
(vii)  Define Brine.

S felarn§50 (il
SIS i

4. Attempt any five parts. 10=2x5 -.é,//":«&'zélz;égc,éf a8y
()  Whatis meant by Redox Reaction? seile it )
(i)  Define Oxidizing agent with one example. S Jodi At £ T (i)
(i)  Write down two examples of Electrolytic Cells. -é-’:{fu‘.’c‘wgﬁf.@:}?l (iii)
(iv)  Whatis meant by Corrosion? ) ?4‘_;yl[c. uf,/ (iv)
(v)  Write down the names of two very reactive metals. - j{t&#’;ﬁf lfd/o,/.» (v)
(vi)  Give any two uses of Silver. - .-,Ulﬁ‘l»cdféz)f (vi)
(vii)  Write down any two physical properties of non-metals. -g’,:({ /::«Loﬁdfb}:dl Jﬂ#" ot (vii)
(vii) Complete the following chemical equations:- -_é_-fJ; fu?l:vdyfj s (viii)

(i) Ca+ Hy ——> () Ca + Cly——
SECTION-Il (3.2

NOTE: - Attempt any two questions. 18=9x2 -ég /.:,glﬁ[,amr»c,d/ "y
5.(A) Give the applications of Isotopes in the fields of 5 U ket iy T L den§i s (D25

radiotherapy and medicines. )
(B) Define Atomic number and Mass number with examples. 4 -u.‘.’id_?‘l/."JﬁZJLulﬁ"J b0 (&)
6.(A) What is meant by Covalent Bond? 5 -ch u}'l‘/yusJ(JIJ S ?.;.,yg’c,i:g.»,é,/ (-6
Explain its three types with examples.
(B) Define Charles's Law and give its experimental verification. 4 -u_f&_,«ﬁ AL SUsy Ak 76 Uk ()

7.(A) Define Electroplating and describe electroplating of 5 el S L A B (.7

Zine and Tin
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TIME ALLOWED: 15 Minutes OBJECTIVE ($%*.» w15 = =
MAXIMUM MARKS: 12 ; 12= AF

S L A I35 Ml e fo Ui Eri L Drp g Q607 B ELEs D i C B A A2l g s
PRV I AR A S SRV S sty Krmdslo Mot Si Sl Sk | S ifstimlen ki
Note: You have four choices for each objective type question as A, B, C and D. The choice ..Q’/C:J’};;oﬂ!r
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) The .element is found in most abundance in earth's crust:- ~‘;_rlg§go:g)c.qgﬂ Lﬁ:lu(e.)'f‘f (1)
(A) Oxygen J“/T (B) Aluminium (Jyél (C) Silicon &l (D) Argon o '

(2) ___ consists of four subshells. -‘a'\,py,;;)»ﬁ.‘//g o (2)
(A) K shell 2 K (B) L shell U= L (C) M shell (£ M (D) N shell £ N

(3) Mendeleev's periodic table was based upon:- -Lﬁy’.u‘(}f_ﬁg e e (3)
(A) Electronic configuration u?/ﬁ’(.f-:/"gi (B) Atomic mass /'l @
(C) Atomic number Ll (D) Completion ofcd sdshell txr J¥E—

(4) ____ elements are there in the first period of long form < ~ I ik ﬁ%ﬁd’é@&,&d%ﬁﬁ' (4)

of periodic table. (A) 2 (8)3 (C%@ (D)6
(5) Transfer of electrons between atoms results in:- @ i CEf.g?Ku@ U 21l A (5)

(A) Metallic bonding (s by
(C) Covalent bonding .;ul’f_jfcg L

S B) lonic bonding LS T
(D) Coordirate Covalent Bonding ufanJJﬂ,Ms/:{:iﬂ)/

(6) ____ pair has polar covalent bo e Cosladkd (6)
(A) O, and Cl, (B) oD and iy (G)HgOand C3#,' @\ (D) H,0 and HCI

(7) One atmospheric pressure is equal to _| . £ pascals. -g.tm:%éf.ﬁ’@. Z ﬁ“ {Atmospheric) J,}*w 1 (7)
(A) 101325 (B) 10325 {63-106876 (D) 10523

(8) In soft drink the solvent is:- SESNERTY 8 7 03 (8)
(A) Benzene «f # (B) Water 3 {OY Mtk 25 (D) Ol J~

(9) Molarity is the number of moles of solute dissolved)if- - e WSSl A (@)
(A) 1 kg of solution AL F 1 LA (B) 100 g of solvent £pL/ 100 £ esesy
(C) 1 dm3 of solvent & 1 dm®> &L s i (D) 1 dm? of solution % 1 dm® L+

(10) The oxidation number of Chromium in K,Cr,05 is:- ,“-_/ﬁjﬁ/ TK_(»';/L}.‘.' KoCry0,  (10)
(A) +2 (B) +6 ©) +7 (D) + 14

(11) The most common example of Corrosion is;- -g.dt?(bc__/gfui:f (11
(A) Chemical decay 17 s (B) Rusting of lron 08z +
(C) Rusting of Aluminium &/ i€ (D) Rusting of Tin ¢l_E4(/

(12) Of the following non-metals is extremely hard. eSS (12)
(A) Graphite w5/ (B) Phosphorus (246 (C) lodine /3T (D) Diamond 143

o ’, L9 23(0bj)( ¥X)-2018(A)-51000 (MULTAN)




